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3 IR T e (V) eE |
Tick (V) the correct answer. (18x1=18)

HTERYT TS A& THIFAT (AT TaT A Tl TS ATURAT THIGeed! GANHAE el 575 |
A [ESUHT THGEEHEN A ATARET TS &l ?

The fundamental unit is independent of any other units whereas derived unit is formed by
combination of fundamental units. Which of the following is fundamental unit?

a) S« (Joule) b) are (Watt)

c) TR (Ampere) d) urr«r (Pascal)

Tfq qiEde! sXaTe & Aivws ? What is the rate of change of velocity?
a)  fwg (Mass) b) =« (Force)

c)  9a% (Acceleration) d) 3T (Speed)

TP FTAAT GHAY g S T THISHAAD! JAIAATS P A, ?

What is it called for the ratio of load to the effort involved in the work of a machine?
a)  amees wrsar (Mechanical advantage)

b) i saTa (Velocity ratio)

c)  wrEwar (Efficiency)

d) @wma #w& (Input work)
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T qeTeel AT T TP e F& T G ?

What is the relationship between liquid pressures with their density?
a) O YRTYR AT D GAaE GHANGSE 578 |
(Liquid pressure is directly proportional to the density of that liquid)

b) RS TR AT D AT R AT &7, |

(Liquid pressure is inversely proportional to their density)

C) TR AT ¥ HAeAP! SITAT B G G |

There is no relation between liquid pressure and density of liquid.
d) 9@ TE U0 TGET AR AT FGH! T TG |

Liquid pressure increases by their square when density of liquid increases by two times.

g TIar At K0 ol fvg fmR 30 fameaw i s S #ia & =4 ?

If a person stood in with 50 kg of mass for 30 minutes, how much work is done by him?

a) 150 1= (joule) b) 1500 = (joule)
C) 80 [« (joule) d) O (joule)
ANTHHN FAHT AT FUATE & S ?

What is it called for the smallest particle of a compound?
a)  9ra+ (Proton) b) 9T (Atom)

c) &9 (Molecule) d) ST (Electron)
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TITHT GTEA A THRPT TRABTEEAN WEeed TIel & | WeAqb! b HH & ?

Among three different types of blood cells one is platelets. What is the function of platelets?

a) T T HEd T T GISeedle T G S Q97 e Jaer T A4 |

They help in blood clotting which prevents the loss of blood from wounds and checks
the entry of germs.

by frem faeg @Em T I ARFEE SENE |
They fight against the germs and protect from diseases
C) AT RIFEETE TERE FVeEaH [A6E |

They transport oxygen from lungs to the body cells.

d)  IfmErE FEierE e |

They transport urea to the kidneys.

AAGTHE FH SUAAT HET IHATAE ToAT 57, 7

Which of following organisms reproduce by fission process?

a)  greer (Hydra) b) e ST (Tape worm)
c)  orr Arew (Star fish) d) sfwaEr (Amoeba)
feguar for & SErad @ 7

Which medicinal plant is shown in the figure?
a)  Sewdr (Jatamasi)

b)  ferrEar (Chiraito)

c)  ar&ipET (Yarshagumba)

d) i e (Panch Aunle)
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FUNT ¥ FAGRGMEE FEhT FATSEAIIAEE THIAT FAMHaAT §aT HT 7 I7G, 7

Which acid is formed by the reaction of Carbondioxide released from the industries and
factories with water?

a)  wEiv® = (Carbonic acid) b) &eRf& F= (Sulphuric acid)

c)  Arsftesw = (Nitric acid) d) wERIR& = (Phosphoric acid)

HE THRH T RIFAT FT1 AT @ 9 v ?
Which type of rock is formed by cooling of magma or lava?
a) I =& (Sedimentary rock) b) = =rag™ (Igneous rock)

c) uikafqa srggm (Metamorphic rock) d) @ERe (Conglomerate)

FUTAHT AATHES T TQTS ehl 576 7
Which of the following substance is present in the lemon?
a) =T (Acid) b) &R (Base)

c)  «@u (Salt) d) fer (Sugar)

AT IERBT ATTHH ATH HT AT TR TR ?
Which thermometer is used to measure the temperature of human body?

a)  SAfasaR—gaaH gHitel (Maximum-minimum thermometer)
b) Frfvee gwitaex (Clinical thermometer)

C)  yuRTEmen gHiAeR (Laboratory thermometer)

d) @+ af &z (None of them)
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Afepe AT (W g SN H AN G & & 7

Which of the following is molecular formula of baking soda?

a) Na,CO, b) NaH.CO,
C) NaHCO, d) NaOH
G TAD G TAGHEA FHT el &l ?

Which one of the following is the correct formula of common salt?
a) NacCl b)  NaCl,

C) Na,CO, d) NaCl

16.  This question Is kept blank.

Hiex MEMT AEE TATH FGHT FF THRSB! TAT TART TR, ?
Which types of mirror is used as side mirror in vehicle?

a) Fp¥ TAT (Concave mirror)

b) Fg AT (Convex mirror)

c)  ¥Ha« AT (Plane mirror)

d)  3fer AT (Spherical mirror)
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TP TEADT AAAT B FATHB! THT 9T T[FHHIT qRTdTs TGRT I I [T IO a1
EATHl FRA F &l 27

What is the cause when a piece of iron or magnetic material is placed at a magnetic field of a

magnet, magnetic properties are created in the material?

a)
b)
c)

d)

TAFH! Auae tagrr (Molecular theory of magnetism)
=g Sares (Magnetic induction)
fag == Suted (Electro-magnetic induction)

<[ el &war (Magnetic field strength )

This question is kept blank.

ALAVSAAT FTEH SEAFATES, TABU, AT, TohEIE AFASE qUT AT TIGETH! ATAT TSHT &
AW T 7

What is the effect of the increment of carbon dioxide, dust, water vapour, sulfur dioxide and

other gases in the atmosphere?

a)
b)
c)

d)

gRaR[e TwTE &g (Increase in greenhouse effect)
s a2 &9 g4 (Depletion of Ozone layer)
ST 99 g4 (Water pollution)

et /g8 s ams (Occurrence of storm)
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SYYH R JAEN Grell 38 THRI |

Fill in the blanks with suitable words. (5%1=5)

(21 A T g &S &l |

Hematite is ore of ........ccccooveveinnnnnn metal

g faearer gamer |yewor fFam ... g e B |
Green plant releases ............ gas during photosynthesis.
TRATH M I Sfrepas ... AT TART HEPT 9 |
M shell of atom can accommodate maximum .......... electrons
ARTHISASR! TSET ............. wH G |

TA® TPl IAY AETRId |
Write the answer of each question. (5%1=b)
HehIEd T TP HHUETE JqHT AATIeEATs SIS H [ardel TANT {9 ?

Which method is used to separate the components of the mixture of alcohol and water?
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9, AYTTHT A FY R A AUHE KTAREEH ATH Iog THEI |

Mention any two endangered mammals found in Nepal.

G, AP B ANTHT RETHIEE TRG 7

In which part of flower pollen grains are formed?
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R, %0 THITH IAGAT HISATSTH! AHISHT FH Y bl g 7

What type of energy is stored in a ball hanging at 50 m high?

30. THISEAR YUMEIH TF HY I el |

Mention one major function of Circulatory system.
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W) YA A SAX dAeaiq | Write the answer of each question. (7x2=14)

N, TS FR R FEEmEie T qF EE | 4 ABUeUig FRH G qk 72km/hr T [T A I
FRPT TAT HT Sl ?

A car starts to move from the rest. After 5 seconds its velocity becomes 72 km/hr. What will be
the acceleration of the car?

R & 3 AT U QU AR FRO B g 7

What are the reasons of occurring erosion and deposition side by side?
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33 I 40 MHex afadaves! qHT Feesd! THHAT 3% TSN T 5 IPISHT 99 ATh~S | THH! MAeTd
HiT B ?

If the brake is applied to a bus moving with velocity of 40 m/s, it stops in 5 seconds. What is
the retardation of the bus?

¥, RTER AREE Y T FEIAEE AR |

Write any two advantages of hunting reserve.
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HTE AT qEA g9 T RRT frerekt qEer e Sw@ T |

Mention two differences between arteries and veins found in human heart.

THFIA AT S W TR RS &fT 8N | HF R e aafed gie THa |

Not only the earthquake that harms human, but people are solely responsible for the damage.
Justify with two facts.
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30, foEAmer SRT T A TSET/ TR HY AT |

Mention one function of leaf and root of the plants.

¥ TP YA IO Aefsrq | Write the answer of each question.
6. STy IREdHE TS H BN AT B A Siar G e |

Give any three suggestions to minimize the effect of climate change.

(2x3=6)
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R, TegE yweEH SO e | (Answer the questions given below.)

a.

T ARl B @R | (Write the function of white blood cell)

qar AR Fal a<a ¢ (Where does White blood cell form?)

AT THABITH FHI gaT g7 TS THLT Ioog eI |

(Mention a problem when the number of red blood cells lacks in the blood.)
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